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225009
o AH
D.
AH = -
) o 2 H,(g) +Br,(1) ==2HBr( g) ; AH
A. = =72 kJ/mol 1 mol Br,( 1)
B. 30 kJ 1.
1
C. Hy(g) Bry(g) HBr(g)
1 mol
436 a 369
D. H,(g) +ClL(g) ==2HCI(g) k]
AH a ) o
A.404 B.260  C.230 D.200
Br,(1) ==Br,(g) AH = +30 kJ/mol
:C H,(g) +Br,(g)==2HBr(g);AH= -102 kJ/mol
AH = - 436 +a -2 x369 = - 102 a=-200 kJ
D . :C D o :D
o B,
> 4 A. a
B. AH
C.
D. E,
+FE,
AH o a
(2014 - ) b a A
2 ; B
AH B
; C
C o
:BC
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3 0.2mol CS, O,

298 K 215 kJ

o

CS,
1(5) G5, (1) +30,(g) ==0CO,(g) +
250,(g) AH= 1075 kJ * mol '

~—(8)

A Hh AH,

. 1
AH = AH, + AH,

4 298 K.100 kPa :
2H,0(g) ==0,(g) +2H,(g) AH,
ClL(g) +H,(g)==2HCI(g) AH,
2CL(g) +2H,0(g) ===4HCl(g) +0,(g) AH,

AH, AH, AH, ( )

A AH, = AH, +2AH, B.AH, = AH, + AH,
C.AH, =AH, -2AH, D.AH, =AH, - AH,

AH, =AH, +2AH,. A

(25°C 101 kPa)

1 mol

« D7 o

5
(25% 101 kPa) :
@DCH, (g) +13/20,(g) ==4C0O,(g) +
5H,0(1) AH= -2878 kJ * mol '
@C,H, (g) +13/20,(g) ==4C0,(g) +
5H,0(g) AH= —2658k] * mol '
BC,H, (g +9/20,(g=—
4CO(g) +5H,0(1) AH= —1746k] * mol '
A
g)

@C,H,(g) +9/20
4CO(g) +5H,0(

g)

AH = —1526k]J * mol !

( ) o
B.2658k] * mol '
D. 1526k] * mol '

A.2878kJ * mol
C. 1746Kk]J * mol '

( . Co,)
o CA
1 mol;
N CO,;
o B C.
1 mol o
6 :HCN( aq)  NaOH( aq)

AH= —12.1 kJ * mol ™'; HCI( aq) ~ NaOH( aq)
AH= -55.6 kJ *mol™'s  HCN
AH ( ) -
A. —=67.7kJ * mol " B. —43.5kJ * mol '
C. +43.5kJ *mol ™" D. +67.7kJ * mol '

HCN
HCN  NaOH : H*
H*  NaOH :
HCN AH = —12.1kJ * mol ' —
( =55.6k] *mol™") = +43.5kJ * mol ' :C
: 1 mol.,

o
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